SHSEE RERE
BffdsRE
(=01 (vl
TMENEE 232,942,513 atfE 84,725,453
& E & FE 1,059,044,159|EE & f& 372,592,760
BB E 869,764,898 |H A% 87,601,205
ZDMDOEEEE 189,279,261 |EE/MEIE&ERHFRIEL 303,189,628
ZDHDTEIE 24,344,005
R RSN =58 419,533,621
=t| 1,291,986,672 =t 1,291,986,672
BESNXZAHES
BERB LEERE
EEEHINAGHD) 630,387,445
FEEHINEEH2) 592,779,647
BEEHESINEEER)=(1-(2) 37,607,798
hEaE B E N AT (4) 0
MR mE R HE(5) 30,641,622
M EHEEES N ER(6)=(4)-(5) -30,641,622
Z DD SEENNAEH(T) 2,051,980
Z D ESHF HEH(8) 5,630,874
Z DD IEENERINE Z%E(9)=(7)-(8) -3,578,894
Flmg 3 H(10) 0
YHBE SN E=FAET(11)=3)+(6)+(9)-(10) 3,387,282
AR T EEES(12) 182,819,479
LRI EEES(11)+(12) 186,206,761
EETHHESE
BERB LEERE
H— £ R EENNERET (1) 625,850,894
H— R EESEAT(2) 618,625,815
H— B EENERER3)=(1)-(2) 7,225,079
H— £ R EE AN (4) 4,536,551
Y — R ESAEA () 3,912,152
Y — B EENMNERERE(6)=(4)-(5) 624,399
REEEAER(7)=(3)+(6) 7,849,478
FERIUNZSET(8) 3,514,480
FrBE AR 9) 3,515,299
R 3R =48 (10) =(8) - (9) -819
YHAERENIEAAERE(11)=(7)+(10) 7,848,659
BIARGEB IR =R (12) 412,483,799
YRR R SR ERE(13)=(11)+(12) 420,332,458
HEAREEUIREE(14) 0
Z Dt DFEIL L ENEREE(15) 2,000,000
Z D DFEILETEIIEE(16) 2,798,837
REBIEBEBNIBRZERE(17)=(13)+(14)+(15)-(16) 419,533,621




